
Hyperbolic Formulas 

① 𝑐𝑜𝑠ℎ2𝑥 − 𝑠𝑖𝑛ℎ2𝑥 = 1 
② 𝑐𝑜𝑠ℎ2𝑥 + 𝑠𝑖𝑛ℎ2𝑥 = 𝑐𝑜𝑠ℎ2𝑥 
 

Adding ①  and ② 

③  2𝑐𝑜𝑠ℎ2𝑥 = 1  +   𝑐𝑜𝑠ℎ2𝑥 

Subtracting ②  from ① 

④  2𝑠𝑖𝑛ℎ2𝑥 = 𝑐𝑜𝑠ℎ2𝑥  −   1 

 

1 −  
1

22
 +  

1

32
 −  

1

42
+ … .  =  

 𝜋2

12
 

1 + 
1

22
 +  

1

32
 +  

1

42
+ … .  =  

 𝜋2

6
 

 

𝑒𝑥  =  1 + 
𝑥

1!
 + 

𝑥2

2!
 + 

𝑥3

3!
 + ....  

ln( 1 + 𝑥 ) =  𝑥 − 
𝑥2

2
 + 

𝑥3

3
 − 

𝑥4

4
 + 

𝑥5

5
 − ….  

ln( 1 − 𝑥 ) = − 𝑥 − 
𝑥2

2
 − 

𝑥3

3
 − 

𝑥4

4
 − 

𝑥5

5
 − ….  

Cos x =  1 − 
𝑥2

2!
 + 

𝑥4

4!
 − 

𝑥6

6!
 + 

𝑥8

8!
 − …. 

Sin x =  𝑥 − 
𝑥3

3!
 + 

𝑥5

5!
 − 

𝑥7

7!
 + 

𝑥9

9!
 − …. 

 

nth order derivatives 
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